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COMMERCE
( Discipline Specific Elective )

( For Honours and Non-Honours )
Paper : DSE-602 (GR-1V)

( Insurance Management )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
for the questions
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Fill in the blanks of the following :
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Investment of funds by LIC s
regulated under Section _ of
the Insurance Act, 1938,

fij LICY ‘Nivesh Plus' «% _ «@&%
oy

LIC's "Nivesh Plus’isa Policy.

fid) GWPE « awly J50e !

The full form of GWPis
fiv ___ Www o tabe wfelt e g
B

‘Master Policy’ is issued for
insurance,

fbj e Fever o ¢ wes g

Write whether True or False of the
following :

(i sy e Few SR Gwes e
o8 il e wrw

Life  insurance provides best
investment schemes for palicy-
holders.
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fiy) u% Foa e caate, we, cefn oo e
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If the insurance policy document
is  lost, the insurance - "’l‘,?“‘fﬂ¢t..,-_:- :
beconies void.‘ e

fiif} = ErE s O] wWa W SLN '??&W‘ ‘ﬂéﬁm} :
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Renewable premium cannot be pmdi S
without renewal notice. '

fiv) T Ty TR el e mw
5‘”’ % W e B

All types of insurance contract
terminate after insurance u.hnm i
paid.

MR wRlE e sy O B dxd=16

Write short notes on any four of the
following :

faj = Txm 3Rz

Benefits of Group Insurance
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(4)
B TN EE AED Bl
Money Back Policy - | s e i
i (b) cmR Enf W R RA¥n geE orm.
SRR Rew e w0 o a410=14

(c) eme= we
Mutual Fund What do you mean by pensiorivvpi_ﬁ‘h?v'; :
Explain the different types of pension -

plan.

(d) T ¢/ TEre (NPS)
National Pension System (NPS)
4. (@) ]| TS W T @IS’ WA B2

fe) G TRE e . _
wiginglifePolicy TERTTIR [ I, TR T 4+10=14

What is life cycle needs’ with reference
to insurance? Explain how insurance =

() ULIPR SRR Lty
helps in the fulfilment of various life -
Disadvantages of ULIP cycle needs of insurance policyholders.
N {RT/ Or
3. (@) T @reARPTz SeReR Rew Rivcrs- e
TP ST RACE ST 911 16 (b) [ A 2 Tew I IRA AR TN
i ious i ‘ ; 4+10=14
Discuss the various investment-related S
schemes provided by insurance What is insurance? Discuss the - .
: : functions of life insurance. S
companies.
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. 5. (o) FwA s ava 0 ARAR qE WE A9 AR

uq% ) Or
WA ATy g 4+10=14 i i
) g B o - N2 Skl ‘f)‘*
. ry e g (b) T7ERT FLRTA TEE Tw CWIREEA PR
What is surrender value? Distinguish ‘ J . sdi A, RS s
. v CATRTEE TR A : 4
between surrender value and paid-up i PIELL TRCIR TN : 4’
value, Discuss the various constituents
} , :

insurznce  proposal  form

H9a1 / Or with &7.31'17{)‘1!:.

(b) AT faumara e == 7+7=14

Explain the following :
(i) fimrrs S ey

Rebate on premium

(i) {afquma s w72re faraven =4 wrees
9

Factors considered in premium
calculation

6. (o) AT fEAR 2<m Z4: 7+7=14

Explain the following :

(i) ULIP #% “A#=aais Fm "

ULIP vs. Traditional Insurance
Policy

(i) “F=ere A= wwa Wi
Traditional Policy vs. Term Policy
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